F2RAR—VIREE B BZERVEEE
(FtiE A TR28EE~FFTEEET) XPREEESI2EE
1 £KB1E BiZE | =4&iE
BAB1BILU EDAKR—YEHEFERS3IWELE HiEE 43.10% 43.10%
ER28ERE
>400% o FER29FEE 48.20%
52.00% L -
50.00% qmmmm=== - TR0
48.00% - = ~— SHMTEE 48.80%
P d
46.00% < TH2EE | 50.00%
P d
44.00% / FHIEE 48.00%
42.00% VS
ST4AEE
& r&‘{*‘* &g"g&é" &‘g"m&é@r&é"f@& r&@ y — SHSEE | 5050%
@a é; {s{k &&(’ R R 4& 6& @ N
7 73 o—O=HAE | | 4fnesmEE
SH1EE 53.00%
2 &R EE
OREBERR—YEESINE 119,000 A L1 E BiZ{E EHEE
HiEE 87,672 87,672
120, — v
%%g; . FRi2sERE | 90200 | 96,218
1 8 —= TR0 | 92000 | 85145
L — ‘\‘ FRI0EE | 96,800 92,431
égi \‘ SFTEE | 103,000 89,999
ggi \ /S SHI2EE | 108600 | 45416
i - SF34EE | 111000 | 40,740
3 AF44ERE | 113000 | 58699
\v@ @ é‘r '%r <‘r ’ér ‘?‘r <‘r ’éf %r PN
‘2 %, %?)st:& /)g& &%&6&@ x§°& @(g& 6&4& o - 0B EiE Zﬂlsﬁl?z 115,000
7S gy SH6ERE | 117,000
SM7EE | 119,000
@ RAR—Y 2% F| A& $01.540,000 A L1 E BiZ(E EEE
1.700,000 HIE 1,137,343 | 1,137,343
1,600,000 ERk284EE | 1,167,000 | 1,443,338
1,500,000 == -
1200.000 A e ER294FE | 1,200,000 | 1,359,794
1,300,000 / \-\' SERK304ERE | 1,254,000 | 1,452,218
00000 | €77 \ SHTTAERE | 1,330,000 | 1211505
1,000,000 \ |/ SF24EE | 1,407,000 | 868,346
288888 \{ HHBEE | 1,450,000 | 1,190,365
SFI44EE | 1,470,000 | 1,031,201
&zgp @, @a @ 6« & AR & o - -oHIE(E SF54E | 1,500,000
AN
SM7EE | 1,540,000




